(8.6) In a GM counter, sample A gave 12630, B 15480, and A+B together 25147 cpm. (a) What is the
resolving time of the counter? With the same counter, the distribution of radioactive samarium between
an organic phase and water was measured according to Dm=Rorg/Rag. The measured Rorq is 37160
cpm, and that of Ryq is 2965. (b)What is the measured Dy, ? (c) Using the corrections for the resolving

time, what is the true D-value?

First some definitions of useful units:

Ms = 10’6-sec

Ignore the background count rate in calculating the dead-time.

R p = 12630-cpm
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(b) R org ~ 37160-cpm
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